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SECTION A
COMPULSORY QUESTION (20 MARKS)

An experiment was carried out to investigate the rate of photosynthesis in a maize plant
(C4 plant) and bean plant (C; plant).

The rate of pho?osynthesis of the two crops was determined at different concentrations of
CO;, by measuring the rate of Oxygen evolution from the crops and recorded in the table

below;
CO, concentration Rate of photosynthesis per leaf area per
% second (O, evolved in cm’ )

Maize Bean

0.01 17.0 0.0

0.02 38.0 0.0

0.03 55.0 01.5

0.04 57.0 23,0

0.06 57.0 56.5

0.08 57.0 65.0 ]

(a) Compare the variation in the rate of photosynthesis of the crops at the following
carbon dioxide concentrations. (04marks)

(i) 0.01 to 0.02 _ 3
- The rate ofphotosynthesis in maize increases from 17.0 to 38.0cm” of

0, evolved while in bean there was no photosymhesis/ recorded or No
0, was evolved. (2 marks)

5%V eni®
ii 0.04 to 0.08 _ 5 v
@ - Maize attains a maximum and constant photosynthesis rate of 5+-6cm”

of O, evolved while the bean increases rapidly from 23.0 to 65.0cm3
and attains the highest photosynthetic rate than maize.

(2marks)

] j ] bove. (02marks)

Give your possible explanations for the answer in (a) a |

“ - ij) plarfts (maize) has a high affinity for Co, than C; plants (Bean plants)
alt

- Maize plant ## more efficient at photosynthesis at lower CO;

atl an plant and vice versa . o
concentration than a bean p K&M -




)

(e)

Suggest two factors that were kept constant and give a reason why they
were kept constant. g # (3mary )
- Temperatyre / wagmth

. . . VVL:' i \ ; . X
- Lightintensity / C‘% Vv by )

Reasons: Both factors have an effect on the rate of photosynthesis.

Measuring the rate of photosynthesis by determining the rate of oxygen evolved

maybe by an inaccurate method and may give misleading results. Give two
reasons why.

(02marks)
- There could be other parts emitting O, other than the plants only.

- Oy is only produced during the first stage of photosynthesis (light reaction
stage) there fore does not represent the full process of photosynthesis.

[ X|

What conclusion can be drawn from the photosynthetic rates of the two
crops basing on the results above.

(04marks)
- Maize has a higher photosynthetic rate at lower CO; concentration t

han a bean
plant. | |

- g‘e_;x\/\- L\J\S» L\/m\z\/b( ‘Fl/\&fhﬂmv\ l’(x\{‘ﬁb Ta {»{ Q{. L\ ijll,ﬁ/r @)\@ vy
k. SNV VIR NS .
W

\ A ! 2 ! : c E

C/Q'L:JLC@Q\& (\u\o\'{ fkg : \y\MR ﬁh‘\‘j v Seaws ad Che Lo

Give four dt}’férencesie?ween C4 and C3 plants (08marks)
L C; plants C, plants
L - More adaptable to cold

environment

More adaptable to hot environment 7

- CO; acceptor in RUBP ‘
(ribose Bi-phosphate)

- Produce GALP or PGA
(Glyceraldehyde -3-phosphate)

CO; acceptor and PEP
(Phosphoerial pyruvate)

Produce OAA (Oxalo acelate)

Has no krauz anatomy - Has akrauz anatomy

Buddle shealth doesn’t contain
chloroplasts

Chloroplast don’t contain )

Chloroplasts contain peripheral
peripheral reticulum

reticulum

Photosynthesis can only take B
place when stomata are open.

Photosynthesis can take place when
stomata are open or closed.

- Less efficient in CO,

fixation - More efficient in Co, fixation
Low rate of photosynthesis

- High rate of photosynthesis.

Buddle shealth contain chloroplasts 7




(a)

(b)

(a)

Describe the procedure of growing mushroom from the planting of spawn
up to harvesting.

Explain the challenges faced by farmers growing mushrooms in Uganda.

State the impact of soil erosion on farming communities.

CROP PRODUCTION (20 MARKS)

medin  (shbshate) (10 marks)
Obtain the growing (maize straw wWood, shaving, cotton husks)

Chopping the media. in order to obtajn fine materials to ease compositing
ompositing/ soaking the ;nutLL‘l'ial‘ \54% yyater to cayse }.compalibi]ity.
%hﬁng e tnitertafsit Tavolves z{zaiffon of lim& t6 maintain PH.
Sterilization of the material; to kill pathogens/ «fumjm( Tnesta Fown
Cooling of the materials; its done to regulate temperature of the material
(substrate)
Innoculation of the spawns(mushroom seeds) into the prepared substrate.
Encasing the material, This involves putting the substrate with seed into the
polythene bags (bagging) dare 87 v cuba how fon-
Hanging of the encased bags in a dank room to promote germination.

Slitting of the bags; it involves putting slit cliis on bags to promote sprouting of
mushroom.

Watering and introduce light gradually to promote efficient germination.

(12 marks)

(@8 marks)
Perishability, therefore easily go bad.
Expensive mushroom seed (spawn)

The mushroom seeds are not readily available.
Limited skill of the farmers.

Inadequate processing equipment/ facilities.

Harsh climatic conditions especially dry conditions that cause spoilage.
Inadequate information and extension services to the farmers

Lewwe 'A May ket /('m Al s hrooan - ¥

(8 marks)

(08marks)
Weakens farm structures

Leads to spread of soil/ water borne diseases.
Leads to destruction of the soil structure.

Leads to loss of soil mutricuts. nulviewt
Leads to loss of organic matter.

Increases the rate of rock weathering.
Leads to destruction of crops.
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Leads to formation of gullies making use of machinery }.1ardl.
It increases the cost of production or farming in controlling it.

- Infertile soil maybe deposited on fertile soil making the latter infertile and vice
versa.

- Spreed 8] wees Seed |
- (,}fyw‘ 4o 5:“’\(3 O/“ odates IODU(‘J“")

I’)Qﬂfwd\uv\ S)r Cm""M"’m“ﬂth .22 Award 1 mk @ 8 points

(b)  Outline the measures to minimise soil erosion and its effects. (12marks)
_ (C);%,ae?l;;npu;;{]gmg = Aﬂ?l icahén “\d oYy ML Minus e -
- Contour ploughing
- Terracing
- Deep ploughing
- Strip cropping
- Use of graded banks.

- Use of diversion channels
- Use of bunds.
- Agro-forestry.
- Use of galsiens. \gu b\ sua g
- Close spacing
- Use of ridges.
T onbey u%]?riv:&) b
::\U _D/} ‘j\k - A _ Award 1 mk @ 12 mks
= Mifrwut:»v\ an | \a‘l@h“”’
— A%&L@hw ¢ (o gt Y

SECTION C

ANIMAL PRODUCTION (20MARKS)

(a)  Explain factors that predispose farm animals to ill health, (10 marks)
- Age of the animal
- Climate ag ’5’«-‘—@»«: v o

- Injuries

- Heredity‘”‘\~\_/—/// ;::) %1 \Q)Lc( / ,‘\j)){/ ‘-’(’} AN 1w (
- Nutrition AL A Linci s

- Sex of the animal

- Stress / V [ L\Aj 7{ (,.

- Poor management Pm LLW“SWS P,D.W 9‘4/“4// ijlﬂn o '\-j )

- Inpurtes : _

T Ve . \ ‘ :

- ?Tvll(:,LQ‘;\'\’\)skzj Q*LL W\Mq‘ ((’\\j\'\ M\\P\Q_” )

b FD \3Son -

rcw‘ C(:S F-O‘St\\ 0(1‘ OLQAL‘ \'\‘F{'I “d d'w‘u‘\u«q(
Award 2 mks for 5 pts when well explained

5x2 =10
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(b)

Give the benefits of having a good parasite and dis

ease control program

on the farm. (10 marks)
- Control / avoid zoonotic discases. (

- Promote faster growth/matunly: . 10 XA

- Ensure constant/steady production.

To increase production span of animal.
To increase production levels

To enable safe introduction of exotic animals ‘imo the farm.
To promote high breeding efﬁciency{
To improve on the quality of products.

o Tweyeuse \\(/c SICW\ a/ql Tl @n fmaal

: o 2L ENES MJ cfc)-e)'-’ri’lklo\\\“‘\j 3 )'

o bhowae Ceg) B produchion [y entitaoat €370

_ NG yeady nuw ket O} aninad and @i

"(/rl v} U{f‘/\«CAL. oo Y ow‘}’f»

‘nbu{p&‘{*x Z

(@)  Describe the intensive systems of poultry farming under urban farming.
(12 marks)
(1) House and run. Xy
_ Birds are confined in a wire netting and a house in provided with in the
enclosure.
Advantages

Birds are able to exercise.

Birds get access to greens and insects.
Less land is required.

Birds are prevented from Stﬂaymg.\y)rav \/w\\j
There is close supervision of the birds.

- Bivds ave f)fo\“(,b.\'ccl ’F'U\«vx ‘7‘1@:(»«"%*(&

(i)  Fold units
- Birds are confined in movable arks or fold or cages and these are moved

on a daily basis in an enclosed area (run).

Advantage:

Birds are under close supervision.
Predition is minimized.

Diseases control is easy as the folds can be isolated.
- Ub s ey b cellert T g5
(ii1) Battery cage

Birds are kept in individual cages which are stack one another the
permanent building,.

Advantages:
Allows high stocking rates.
It’s easy to detect and isolate sick birds.

Allows close supervision of birds.
Minimises chicken vices.

There is minimum contamination of water and feeds.
Requires less labour to tend to the cages

r s Od‘j ‘“‘1 \« \V\leu‘) wa‘ ib\‘a‘ JQC/crc(J 0
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(iv)  Deep litter system
_ Birds are kept indoors through out their life.
Advantages:
- Allows high stocking rates.
- Sick birds are easy to detect birds-are protected-front predaters.
- Birds are kept comfortable by the litter.
- The system allows / provides good quality manure.
- Birds are kept from hazards e.g bad weather.
- Record keeping is made easy.
- Birds get close supervision of the farmer.

6:“-4 ave !uktkﬁ’ 7‘70\,\/\ F((_Jd*‘u‘fj'
Tady (Colleahom o) «yogs ™

Award 3mks for 4 systems
1mk mention
2mks advantages.

(b)

Suggest the management practicgs for production of good quality eggs.
e NG(\_SC,C«.S¢ Confvol - - (m‘q ‘thh;,;SOQfgg‘gés)
% (e 'MAL‘T) _peop ucm»vj -
- Begalow Yaking 8] F Ldbe f \
- C/L\fqv}jlv\\j lﬂ \\,\\,(4 .
o ]Hw'\;,(i QLQ_“V‘ LCLQH) \O\BX(Y\{A‘*-"
“ ?\rw'i-v(.a green J%&J&LU{ ‘\{y, . J( by~
B TY"V‘.\A* fe’fk—él«—e,alf—’ nwaa ke WY 7
- («6\/\\\/\')\ D/\. 'FM/VJLS \\’L‘

e ML{M\,Q\ﬁ . ‘ ) ,
- K«o\:ih m\@L J2an O ek

- feglow <99 collehCSEerron D

ol o,

& 2K
LQ* e
RAL ENGINEERING ND%ARM STRUCTURES (20MARKS)

(@)

Describe factors that affect working efficiency of farm implements.

gyp: (;tt; 1m‘1ilement..some implements is more efficient than others. (08 marks)
Szr;;n thso; y Sqme implements are more suitable in some soils than others.
. gth o .the 1mplement, strong implements are more efficient
kills of using the implement skills operators lead to high efﬁcie.nc
%g;e;d;}?gﬁ;r&:ho;, dspeedy operators are less efficient. d
rk to be done, some work lead i ici 7 of i
Level of maintenance, well maintained imSeillge}rlltzfi:ac\]/zn}fi}gl?ilfrfl':fi};?;;m&

Nature of setting / mounting of the i .
affislaney. g e implement. Well set implements have high
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(b)

(c)

(@)

1 ’I’y{)}_c\()*i;vcgctalion, thick vegetation lowers efficiency.
MA B U : : . = -
= YAee of the implement. New implements are more efficient than old ones.

2mks for each point
1 mk for point
1mk for explanation
(Zx5=30marks)
CE X e vewanes]
Give reasons why there is a need to care for farm implements.
- To reduce costs of repair and maintainance.

(05 nentd )
To reduce time wastage when repairing implement.
To reduce accidents during work.
To increase durability of farm implements.
To increase efficiency of farm implements while at work.

To redudiincidences of losing bolts, nut and pins from implements.
To increase production due to use of better implements.

(12-marks)

Imk for 1 point
+x5=5mks

"5 7< “— SVV\,C’VVLI}

How can farmers be encouraged to adopt machinery use in Sarming.

Developing simple machines. :
Developing versatile machines. Q sl )
Formation of co-operations to afford machines.

Availing credits to farmers at low interest.

Training and education of farmers to acquire skills.

Encouraging land consolidation to make machine use economical.

Easy access to spare parts for easy repair and maintenance.

Establishing enough workshops for easy repair and maintenance.

] 5w%s§iv;3 e YN'\U@; ) va(ck\mcj

(06 marks)

1 mark for each point
X S=(5marks)
Exp{m‘n why water is of great importance on the farm. e }2 \ tl‘“ -
. Iﬂ‘or slri‘nking by livestock and people during hot days S
For irrigation during times of i adequate rainfal]. .
For mixing agro-chemicals to Séiérecommended concent
For preservation of perishable

: tions.
: agriculture products 1 ﬁ.ﬁsﬁ ,
that require cool conditions, 3 ke and vegetables

© WAKISSHA Join Mock Examinations 2023
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(b)

(a)

(b)y—

For cooling farm engines to avoid overheating,
For penerating, power (o be used at the farm, |
For transporting, farm produce nsing streams, rivers and fakes at the farm,
For mixing construction materials like mortar, concrete which are used in
construction at the farm, N -

For rearing, farm animals like fish in controlled conditions like fish ponds at the
farm.

For preparing, food or cooking: food.

For mixing animal feeds like bran fed to anmmals,

p r 0 ¢ ,J a#livL.’(ﬁl ‘
. ‘V—c‘\-‘“‘\m dk 4 \A.\("(ﬁ {»Ol C,('(’uku‘s 0') (’l{j""'““ a7

LAl €S

I mark for@ point
Fx 10 =10 marks

k\))\' A\ 2o pmow 6
Explain ways how farmers can fight water shortage on the farm — (0marks)

Through irrigation during timer of inadequate rainfall for proper crop growth.

Through afforestration and re-alforestration which cneourage rainfall
formation.

Through diversification to avoid total loss.

Through growing faster maturing crops to utilize available rainfall.

Through growing drought resistant crops to resist water shortage.

Through rearing animals which resist drought like local animals.

Through rain water harvesting and storage to be used in times of drought.

Use of suitable sced beds like sunken seedbeds which trap all rainfall available.
Construction of water reservoirs and storage tanks (o keep enough water for
used in drought periods.

Agro-forestry that creates cool environment for proper crop growth,

Establishing food reserves so as to keep enough food for period of water
shortage.

- Wn'uLi,u‘\) - A cur e ‘(b“)"'\ i

1 mk for@ point
(1 x10 =10 marks)
SECTION E

AGRICULTURAL ECONOMICS (20MA RKS)
Differentiate between specialization and diversification in Jarming.
Spcciaﬁlisnlion is the putting of all resources (o production of one product at the
same ume while Diversific

ation is the putting of some resources (o production of
several products at the same time.

(02 marks)

I mark for each definition

(I x 2 =2 mks)
Describe four farming practices that clearty demonstrate di

’ versification
«) WAKISSHA Joing Mock Fxaminations 2023
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9.

(c)

(a)

A
' \f

Describe four farming practices that clearly demonstrate diversification
in farming.

Explain the benefit

Explain five forms in which

(12 marks)

Mixed farming. It involves growing crops and rearing animals at the same time
on a piece of land. Anraac -
Mixed cropping. It involves growing of sevcrul/\crops in a given piece of land a+
the same time.

Intercropping. It involves growing o

picce of land at the same time.

Agro-forestry. It involves growing crops, rearing anima
“a: the same piece of land at the same, time.

\—(ﬂ o #f"h WL

f the crops (major and minor) in the same

]s and planting oatrees

:)“'\j(mov/j él C"/YU)’ﬁ o [h F’\‘H’urw'

2 marks for each points

1 mark for point.
1 mark for explanation.

(2 x 4 = 8marks)
s of diversification in farming. (10 marks)
1t prevents total loss because a loss from one enterprise can be covered in
another enterprise.
Former get constant income throughout the year.
1t promotes efficient utilization of resources on a like land, labour and
capital.

It promotes efficient self-sustainability due to several enterprises.
It promotes double income to the farmer due to several earnings.
Farmers enjoy a balanced diet due to several products.
1t reduces seasonal unemployment since production is throughout the year.
It promotes integration of farm products, animal manure can be used a:s
fertilizers.

Some crops can be given to animals as feeds.

It promotes a balanced regional development because each region has an
enterprise.

Sorl Lownsey ,‘.\&\;w\ :

lox] = Vewvark:
1x10 =10 marks
1 mk for every point
g
Ugandan government has reformed its land.

T . (02 marks) -
Land adjudication is the process of establishing clear permanent land

boundaries and record details for legal legitimate ownership.
Land registration is the process of getting a land title.
Land consolidation is the bringing up scattered pieces.

Land spttlemem and resettlement. These involves transfer of people to different
areas for land development and use.

© WAKISSHA Joint Mock Examinations 2023 Page 9 of 10
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Land redistribution. This is the transfer of rights to land ownership and

administration from one class to another class e.g from foreigners to natives.

Land fragmentation, this is the subdivision of land into small portions to
promote land sharing.

- Land compensations.
- Issuence ot Certificates of occupancy.

2 marks for@ point
2-x5=T0 marks

5)( A = ‘\\-,vab?
(b)  Explain reasons why it is necessary for the government to undertake land
reforms in Uganda.

(10 marks)
To promote co-operation due to cooperative ownership that increases

production and productivity.

To abolish customary land tenure where land is under utilized.

To promote leasehold system where individuals can use land for specific
periods.

To promote land consolidation that enable use of conflicts and disputes at
various levels hence harmony in land use.

To increase income to the government and individuals through lease systems.

To encourage land reclamation and effective use of waste land through
resettlement to use land.

To promote efficient land market to enable the landless purchase and acquire
land.

To encourage effective use of idle land by landless people.

To promote full rights of land ownership through land registration.
To reduce congestion over land use.

2marks for each well explained point.
(1 x 10 = 10mks)

K (&) A UJ\ =\ O lrevvE ))

END




WAKISSHA JOINT MOCK EXAMINATIONS O "0
MARKING GUIDE

Uganda Advanced Certificate of Education 7

PRINCIPLES AND PRACTICES OF AGRICULTURE P515/1
July/August 2023

SECTION A (30 MARKS)
\ . A 11. B ., €
| 2. D 12. B 2. A ¢
\L 3. B 13. A 23. C

4. A 4. ¥ 24. D

5. A 15. A 25. D

6. D 16. A 26. B A
| 7. C 17. B 277, C
| 8. C 18 A 28. A
| 9. B 19. C 29. B A
r 10. € N 20. B 30. C

SECTION B (70 MARKS)

3. (a)

Explain the meaning of gross margin (02marks)
This is the total revenue minus the total variable costs.
GM=TR-TV.C

rd 78 YNy O

AAvFERYET R RA |Av'1;ﬂ’1 f’io Iznnu)lodna nfnvncc L o Tl g



(b)

Ploughing 50.000/= (2marks)

Sceds 10.000/=
Weeding 70.000/=
Pesticides 20.000/=
Harvesting 20.000/=
Transport 10.000/= Hetu|-{ &0 500

i* \\(‘l\' - Rent on store 20.000/=

'\A W ¢ e lnsurance 15.000/=

Explain the factors that determine the fish stocking rate.

\
| -
AR 9 “\

Mention the management practices necessary to maintain the fish pond.

Lotal vartable cost (1.V.0)

215,000/=
;ii\\,n.lf\it-\)o
Gross margin = TR Ve
100.000.000 — 456680 180 S0PV (1 mark)
= 997785060 o201 .

ey ‘x AL By et S

Gross margin per ha

_ 9% §‘3.000

5
=19.951.000/= - Q6 U oo (1 mark)

(05marks)
Qize of the pond. bigger the pond. the more amount of fish it can accommodate.
Growth stage. bigger and large fish require more space than smaller or younger
fish.

Amount of capital available, large fish ponds require a lot of capital to buy
feeds.

The purpose of the fish kept, those for feeding other animals may be over
stocked.

Fertility of the pond .

Availability of the feeds for the fish.

B <eud ot s\ - _

Lowel 51 Hoo voroes Tl \":’"\J

pedahon fn te pond

trcath ‘5} tle frgh (Any 5 x 1= 5marks)

- (05marks
(;lcar_mg shrubs / bushes around the pond. )
Planting grass around the ponds.

Addnl\g organic manure to the pond water.
Feeding / ponding with good quality feeds
Controlling predators. - .
Weeding the pond.

Cutting big trees around.

/\pp!i\qgll(‘ﬂ of dewormers to control fish worms
p.‘{ﬁng banks / trenches to avoid flooding. '
Desilting to r€move mud / silt. -

Draining out water and replacing with fresh water.

© ”r',]]\'lSS”A Joint Mock Fxaminations 2023
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34.

(a)

(b)

()

(1)

(b)

m Gepder
Define the ter Gepde

(02marks)
. e s ety
] nd their correct responsibility in a socl
Is the state of being a man or woman a Lot
or community. (

Explain how the sex ratio in the population

can affect agricultural
production.

(02marks)
If the ratio of man is more than women, agricultural production will increase and

vice versa (Any 02 marks)
Suggest factors that influence the productivity of women in agricultural
profi,uction.. (O6marks)
- Age of the woman.

- Physiological status

- Health of women.

- Attitude of women.

- Level of education.

- Cultural beliefs.

- Level of income.

Land ownership/ pLSour il Combvo)

- datwve 8 werk

- Type Bt wed o | £«
VAR 3} L:\i\i) Cond \.‘*k’{t 3 { g\ ":j il

- (xwov d /\ \/ U L

i %cce 1? i{‘\{ i c‘ﬂtv\ ‘

Explainthe factors’th

at favour the abundance of living organisms in the

soil. (04marks)

- Organic matter : more organic matter in the soil increases the numbers
because it acts as food for them. " S—.

- Temperature : increase in temperature reduces the number whic -
favourable temperature increases.

- Soil PH : different organisms survive under different P.H i.e
more fungal are common in a cedic soil.

- Aeration : more air in soil increases the number because they
require oxygen.

- Soil depth

- Moisture content of the soil

- Predation

- Type of crop grown.

- Soil nutrients.

- Pollution

- \\l(M)C ?\{ c\(}:\ KA

(Any 6 well explaine(l[jf.x] = 6 marks)

: . 5 5% (2 6§ naowk>)
Give the desirable effects of soil living organisms. (04?nar’ks)5 i /
- Make holes in soil and improve soil aeration.

© WAKISSHA Joint Mock Examinations 2023
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w——‘“‘hm

Bacteria helps to tix Nitropen into the soil,
Helps i sotl formation,
Decompose orpganic matler.

Dic and decompose to form sol,
- Helps in binding soil particles topether,

(Any 4x1 =4 marks)
o) X | - :) W\_LLH‘-*-’J

(04dmark)

35 (a)  Explain the post-harvest practices handling of mushrooms

- Processing to add value and icrease life span.
- Proper drying to reduce moisture content.

- Mgorf packaging to reduce contamination.,

- Proper storage to increase lile span.

Branding for easy identification.

i : AT
< S‘bY ‘lv\t) (.Lt\u“ ‘,)‘-\(,'(\\.n) {‘)‘ ens 5 ("fluu') G,) ’ Y ¢

‘_ ,‘1\:]{04 J{’af‘\tmj ‘hn) f(,L w\u\l,”ouwd
i M,*v\jo\f\\ N

(4 x1= 4 marks)
(b)  What challenges are faced by mushrooms growers in Uganda. (06marks)
- Labour intensive.

- Lack of good quality spam. § pavor

- Limited knowledge and skills.

- Perishability of mushrooms.

- Poor storage facilities .

- Lack of ready market.

- Lack of good quality substrates.

- Fungal diseases.

nadagpute veses

- Phice f(auz,v[ua/(@vv ‘ ,
- e € ealenson e oA

e }mf@wutvv"um Species Gy e 49{,&1«/ by Collxl=bomarks)
. : P S . :
36. (a) lejfe??iﬁmtemween inclined plane and a pulley as used in simple machines.

sl ’ (02marks)
gpulley is a sting or rope wounded around a rotating wheel to lift or lower load.
r.

A pulley is a wheel with a grooved rim over which a rope or string passes.

. . _ (Any 1 for 1 point)
Inclined plane, is the slanting /sloping edge over which load is moved.

(Ix1 mk)
(b)

Give four examples of second class levers.
- Wheel barrow

(02marks)
- Spanner

© WAKISSHA Joint Mock Examinations 2023 Page 4 of ¢



3.

(c)

(a)

(b)

- Bottle opener
- Nut cracker

- Mad Ck\”’*“"

A crane lifts 600 kg through a vertical height of 12 m in 18 seconds.

(i) What weight is the crane lifting? (02 marks)

w=MXg

=600x 10

w = 6000 N
(ii) What is the cranes useful power output? (02 marks)

‘workdone ¥
Power Out Put = - y3
Time
_ 6000x12
18

Power = 4000 watts I,/ (2 marks)

(iii)  If the motor has an efficiency of 80%, what is the power in put?
(02 marks)
: Output
= Effeciency =
Input
80 _ 4000
15 input
Tt _ 4000
B 0.8
= 5000 watts (2 marks)
Describe how the rubber ring elastrator machine is used to castrate a calf.
(05marks)

. Restrain the calf to be castrated.

- Put a rubber ring on an elastrator machine.
- Stretch the rubber using elastrator.

Arrange and push the scrotum through the rubber ring.
- Releag}}hc rubber rin%

he ru at the neck of the scrotum and leave it for about 7 days.
- T Within T days the §E6

um will shrink and drop oft with testacles.

) (1 mark @ point 5 marks)
Give reasons why castration is a recommended practice in animal
management.

L (05marks)
- Reduce &n breeding
Reduce breeding diseases.

" 1 ! [ i i
/'T-Lc(otu,} H,c 5}7\,{~\c1. él \m\f\*‘““l“‘"(’k ‘!‘“{‘\‘cs
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Improves on quality of wool.

Makes animals suitable for work.
Makes animals docile and easy to handle.
Prevents bad odour in male animals.

Improve on meat (promote high quality meat)

ig

;'\/\M\r(‘a_‘ct{n "LL f’/m(_\.*'
en He

\‘0

Tl -

T CAASE T Cj‘(.r\i)\"’\

END

Ta hb LD na {( 40 -[(:V‘/U"t( € dnNiviin

(Any 5 points @ 1 mark)
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. (a)

(b)

(c)

(d)

WAKISSHA JOINT MOCK EXAMINATIONS
MARKING GUIDE

5

i

5

\ Specimen Vol of water collected(CM3) with time

\ 2mins 4mins 6mins 8mins 10mins
\ A A>B A>B A>B A>B A>B
\ B B<A B<A B<A B<A B<A

Prieet Qg figne abore ocud

(5 marks)
Calculate the percentage volume of water retained ajter G minutes  {02mrks)
_Volof water retained X 100 '/2 marks
Vol of water used
% A<B. 2 marks Total =1
_ Vol of water retainedX 100. Y marks
Vol of water used
o B Y2 marks
6 > A Total = 1

Explain the factors that could be responsible

Jor the difference in volume of
water collected after 4 minutes in the two samples. (02marks)
Soil pore space: Specimen A has more pore space that allows more

water to
pass through than B.

Particle size: A has large particles that allow more wat
B.

Cr to pass through than

435
- Organic matter: A has ,organic matter which allows more water to pass through
than B.

Any 2x1 =2 marks

faken to improve soil sample A
ater retention. ( max{(...

5)

Suggest the measures that can be

Mixing it with B to improve w
Addition of organic matter.

Liming to flocculate it.

Mulching to bind particles.

Application oi‘ggdﬁ&ai fertilizers.

(01mark)

) e L
pz?“;%
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2.

(a)

(b)

(c)

(d)

(e)

C:  Farm houses/ farm building/ wall fence.

D:  Stores/ farm building.

E:

wire fence/ fences/paddock/wne fence.

State how specimen D may be protected.
(i) from pest attack

Treating with preservatives which are recommended e. g. Varni

creosote, pentachlorophenol.
(i)  Weather

Treat it with tar/ creosote/paints or tanex.

Describe how Streng

- Baking/ Firing/ burning them.

)

State four advay
A(!vantage of U
- Its cheaper.,

Not easily attacked
Easy 1o be made,

Locally available.

Easy to lay while Waking budy

Give four limitations

Add lime when making,.

Allow the rammed clay to set before
E}asg:r with mortar.

Cate/ dry slowly under shade.

of using specimen F.
Can easily catch fire.

Easily attacked by termites.
Easy to decay.

Easily affected by weather. ‘
Can &8;\3 e(@e,\:;\z (;LQ)(—QL—‘—( ( Eralls

Hages of using Specimen C op afarm
sinhg C

by termites.

)

th of specimen C maybe increased,

' ed i ion of farm structyye !
You are provided with specimens which are used in constfl'tg'tm ; bfe fused .
Name one structure where each specimen C, D ana 1%

Y4 mark
Y2 mark

V2 mark

(01 mark)
sh, paints,

(01 mark)

(21/2171("‘/{5)

melding. yyon(c| ey

5X1/2 = 21/2 marks

2 marks)

4x'/, = 5 marks

(2 marks)

(02 marks)




‘ j ‘ ing speci which are garden weeds.
(@) Youare provided with the following specimens whic /h/ llI’ IL gar t( e
> them 10 survive
serve the root systems and describe how they enable |
Observe the ) 3 marks)
jt\‘ samdl L

P

P\ A
\

A A
" “u\v

R 2x ]/2 =1
) —1:

(b)

(0

(d)

Has tap roots for absorption of water & mineral salts.
Has lateral roots for holding it.

Has roots on the nodes for water absorption.

2x'/, =1
Has buds on the nodes for production of new plants.

2% s = 1

f
AXZ

Ha& roots on the nodes for absorption of water and mineral salts.
A s Ty &

Has nodes for propagation.

A

Has underground Rhizomes for propagation.

2x'/2 mark
Basing on the observable features state how each specimen can be prop

agated.
!
(7 smarks)
H: - Has seeds for sexual propagation.
I: - Has runners for asexual propagation. ARl 5
B - Has Rhizomes for propagation.
3x'/, =limark
Describe the mechanical methods of controlling specimen J efficiently.
- Use forked hoe/ hoe to remove underground Rhizomes
- Remove so.il from the Rhizqmes 2% 1
- Expose Rhizomes to sun shine to dry. 2
- Burn the dry Rhizomes.
. ) 2'% marks
Give reasons why specimen H should be controlled in ¢

tton gardens (3marks
Reduce contamination of seeds. (0% 5.t Seecls © /
- Reduce competition for nutrients. *

Reduce hiding places for pests.

Reduce the cost of controlling it.
Increase crop yields.

-
Lf’"(i

)//‘t&\ il K-

3 marks
© WAKISSHA Joint Mock Examinations 2023
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1 ' ich are propagative materials.
] ]  following specimens which are propag
4. You are provided with the fo S Flion.
Observe them carefully and answer question. "
A . ) 'y il ‘one ‘DeCINC
(@)  Comment on the suitability of each specin
< - R
Y —K — Suitable.
W W ] K HiEyS
P S w® - A, — Suitable
7 ? \,‘"}}’ / it ‘
oo @t M - Suitable

I . . \
AR AW " suitable (275 marks)
o o) 3~ N - Not suit
V\(;)ﬂ”“ (‘)“"V' t//’ - O - Not suitable
w i \v\\‘u '

. 3 n -\\I\V\V\'L\ o

4 x '/2 = 2marks
N

peci ‘e suitable for the

] ery es state how specimen K and L are su

WO (b)  Using observable features state I (02 marks)
Planting. 02

K — Has succulent leaves to store food.
- Has buds for vegetative px-opagmlop. . . Gl i
Has scale leaves for protecting against mechanical damage. X /= P
Has adventitious roots for water absorption

L - Has buds for vegetative propagation

- Has swollen stem to store water.

- Has scale leaves for protection.
Has adventitious roots for water absorption.
- Hus s0allen stenmn o Hwve froc

2 x'/z =1 mark

1

(¢c)  Describe {]‘W W you can prepare specimen Q

Paring the corm by cutting off all roots. y
Peel off the outer layer of the corm to climinate weeds, weevi\s
Dip it in hot water for few minutes to kil| weeds.

Remove all the leaves to reduce transpiration rate.

Dip it in chemicals 6he night to kill the pests

Jor proper planting

(03 marks)

(d) Which other method can be used to multiply specimen 02
Tissue culture.

01 mark
(&) Ofwhat advantage is the method given in (d) above to produce specimen 02

Advantage of tissue culture
Seedlings are free from diseases.
Seedlings are not bulky.

Many seediings can be obtaj i .
: amed in a short
Quicker method period.

ofmultiply ¢rops which do not produc
€ se
Crops produced are genetically identical. ’ iy

Gx',=1Y, marks)

© WAKISSHA Joint Mock Examinationg 2023 3x1 = 3 marks
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N

‘ /S :
\N&\/\ .

You are provided with the following specimens S, T and V which are parts of
animal’s digestive system.

I ,
(a)  Give the role of each specimen (1'/marks)
Help in temporally storage of food. Le i o
Place for anaerobic food fersmatien. &7 9%

Its where synthesis of Vitamin B €& K takes place.

LAl Lol acid
» - b/rS tolave oz,ll’o\\osé “Ave {:you/u\ Jtub'\/\ Qw\\v UU"“C\;l( % “=
O ,

1x1 =1 mark
i

Helps in mechanical digestion of food due to grit. 1x1 =1 mark .
V: lts where chemical digestion of food takes place i.e. break down ofpro}ems
to peptides gx{= I;Jnark
(b)  Descripe the features of the inner surface of each specimen (3 marks)
S: G&f{é

each
sourel- Like structure with dark brown Mﬁrface with margins that are
pale in colour. ('A marks)

T:  Has grit that grind food.
- Has a tough(horny) inner lining.
Has thick muscular wall. % mark
Has slippery/ smooth inner surface Epadiel
Its high\folded to increase surface area for imtaet with food.

u -

3 raswvvi<)
=3 x"z — l-]-h—marks
(c)  Describe 4 observable features of specimen T that enables it to perform the
functions given in (a) above. (4 marks)
- Has grit to crush food.
Has thick mkl_SCl? to crush food.
Has %(\)/qgh lmingdo reduce damage of inner surface.
Has éral shape to hold food before its passed to small i

HYeoL: ime wntethoe
Has 2 opening one allowing the food from provenscalés &’

food to small
intestines.

o ‘ 4x1 = 4 marks
(d)  Compare the digestive physiology of the animals where specimen S and T were
extracted.

t1l% marks)
\ S T
Animals chew cud
Digest cellulose
Poly gastric
No amylase in saljva

€- Don’t chew cud
= ontoaeweud
Z. Don’t

Q—/

Mono-gastric

-  Have amylase in saliva

END 3x'/2 = ]'/2 marks



